
CHEMISTRY

BOOKS - CHETANA PUBLICATION

SOLID STATE

Example

1. What are the three most common states of

matter?

Watch Video Solution

https://doubtnut.app.link/lkek2J5wfhb
https://doubtnut.app.link/MVcbJvrhfnb
https://doubtnut.app.link/MVcbJvrhfnb
https://dl.doubtnut.com/l/_mKfoguqajAUy


2. What are the properties of solids? Or

mention the caracterstics of solids

Watch Video Solution

3. How does solid state differe from the other

two states?

Watch Video Solution

https://dl.doubtnut.com/l/_mKfoguqajAUy
https://dl.doubtnut.com/l/_kIFrUFgRJkLH
https://dl.doubtnut.com/l/_9dAo8O1NCtvN


4. Is solids, the constitutent particles may be

Watch Video Solution

5. What are solids characterzed by?

Watch Video Solution

6. Name the properties of crystalling solids

that you observed in this activiy.

Watch Video Solution

https://dl.doubtnut.com/l/_IgVehVo4Ju7W
https://dl.doubtnut.com/l/_vjMyyLbBoOgu
https://dl.doubtnut.com/l/_HPrbAdq54irI


7. Name the two types of solids.

Watch Video Solution

8. Give exmples of crystalline Solid.

Watch Video Solution

9. Define Crystalline solid.

Watch Video Solution

https://dl.doubtnut.com/l/_HPrbAdq54irI
https://dl.doubtnut.com/l/_qspfEmuC4IZB
https://dl.doubtnut.com/l/_yULSNtHvJvqy
https://dl.doubtnut.com/l/_yyyCgfkRYKJW


10. Explain crystalline solids.

Watch Video Solution

11. Define Amorphous solid.

Watch Video Solution

12. Write a note on Amorphous solids.

Watch Video Solution

https://dl.doubtnut.com/l/_yyyCgfkRYKJW
https://dl.doubtnut.com/l/_lLfvbSExvfIJ
https://dl.doubtnut.com/l/_B2XzFjVjQ2h9
https://dl.doubtnut.com/l/_b9UH0gGOPgZ6


13. Distingusih between crystalline and

amorphous solids.

Watch Video Solution

14. What are Isomophouxs substances?

Watch Video Solution

15. What is a polymorphous substance?

https://dl.doubtnut.com/l/_b9UH0gGOPgZ6
https://dl.doubtnut.com/l/_woiASWAq7Hnh
https://dl.doubtnut.com/l/_CdSqoDDHMS00
https://dl.doubtnut.com/l/_5BhrhPzxXhsX


Watch Video Solution

16. Explain the term Isomorphism.

Watch Video Solution

17. Write a note on Polymorphism.

Watch Video Solution

18. Define Anisotrophy.

https://dl.doubtnut.com/l/_5BhrhPzxXhsX
https://dl.doubtnut.com/l/_VwTyNHmNweeY
https://dl.doubtnut.com/l/_VqpXzth4oOdn
https://dl.doubtnut.com/l/_R0rJnNfQM5Cl


Watch Video Solution

19. Write a short note on Anisotropy.

Watch Video Solution

20. Name the following: Two pairs of

isomorphous substances.

Watch Video Solution

https://dl.doubtnut.com/l/_R0rJnNfQM5Cl
https://dl.doubtnut.com/l/_xw6gxfyBuVG8
https://dl.doubtnut.com/l/_dQNCN7x3lQug


21. Name the following: Polymorphs of 

and Silica.

Watch Video Solution

CaCO3

22. Name the following: Polymorphic forms of

Carbon.

Watch Video Solution

23. True or False: Silica shows allotropy.

https://dl.doubtnut.com/l/_w6mVZUBhoSmV
https://dl.doubtnut.com/l/_bTpYg5AJ2Kfn
https://dl.doubtnut.com/l/_umB8HKSsVjZi


Watch Video Solution

24. Define: Isotrophy.

Watch Video Solution

25. Distinguish between the characteristic of

ionic, covalent network, molecular and metallic

solid.

Watch Video Solution

https://dl.doubtnut.com/l/_umB8HKSsVjZi
https://dl.doubtnut.com/l/_hOX1Fi1c2W09
https://dl.doubtnut.com/l/_DsmNpIsSFCqF
https://dl.doubtnut.com/l/_592FQ8aml2MU


26. Distinguish between ionic solids and

moecular solids.

Watch Video Solution

27. Write the types of the particles in each of

the four main classes of crystalline solids.

Watch Video Solution

https://dl.doubtnut.com/l/_592FQ8aml2MU
https://dl.doubtnut.com/l/_wwbzUOrPvUGK


28. A crystalline solid is hard brittle and non-

conducting in solid state. It conducts

electricity when molten. What type of solid is

it?

Watch Video Solution

29. What is the hybridization of carbon atom

in graphite and diamond?

Watch Video Solution

https://dl.doubtnut.com/l/_x0hicU5zwvGE
https://dl.doubtnut.com/l/_GdxCuwjFCUrn
https://dl.doubtnut.com/l/_tYMpOdJe17BE


30. Write a note on ionic solids.

Watch Video Solution

31. Mention the characteristics of ionic solids.

Watch Video Solution

32. Write note on covalent network crystals.

Watch Video Solution

https://dl.doubtnut.com/l/_tYMpOdJe17BE
https://dl.doubtnut.com/l/_YAIkUM68tPBW
https://dl.doubtnut.com/l/_mc1IljYwhxbu
https://dl.doubtnut.com/l/_179w2No0E2rC


33. What is a hydrogen bond?

Watch Video Solution

34. Graphite is a covalent solid yet soft and

good conductor of electricity. Explain.

Watch Video Solution

35. What are the structures of diamond and

graphite?

https://dl.doubtnut.com/l/_179w2No0E2rC
https://dl.doubtnut.com/l/_McVEyumqmI1K
https://dl.doubtnut.com/l/_LIsnESezf26l


Watch Video Solution

36. What are the types of covalent bonds

those link carbon atoms in Diamond and

Graphite?

Watch Video Solution

37. Are all the valence electrons of cabon

atoms in graphite localized to specific covalent

bonds?

Watch Video Solution

https://dl.doubtnut.com/l/_LIsnESezf26l
https://dl.doubtnut.com/l/_VMQhviHgJJaW
https://dl.doubtnut.com/l/_IXg3x1QtuA69


38. What are molecular crystals?

Watch Video Solution

39. Write note on the various intermolecular

forces of attraction in molecular solids.

Watch Video Solution

https://dl.doubtnut.com/l/_IXg3x1QtuA69
https://dl.doubtnut.com/l/_r6vkvgY0xt2E
https://dl.doubtnut.com/l/_TNRwLWIn70bA


40. Mention charactersitics of molecular

solids.

Watch Video Solution

41. Why are molecular crystals soft?

Watch Video Solution

42. What are metallic crystals? Explain.

Watch Video Solution

https://dl.doubtnut.com/l/_EIYkkVsDTupQ
https://dl.doubtnut.com/l/_CJmnRth2v0m2
https://dl.doubtnut.com/l/_btf2bV4YDi93


43. Give reason:  is a liquid while  is a

gas at room temperature.

Watch Video Solution

H2O H2S

44. Classify the following crystalline solids into

different types: Ammonium phosphate, Brass,

 molecule, Diamond.

Watch Video Solution

S8

https://dl.doubtnut.com/l/_btf2bV4YDi93
https://dl.doubtnut.com/l/_LlNey0Pm6Ue8
https://dl.doubtnut.com/l/_jpYxyE7EWS9o
https://dl.doubtnut.com/l/_41lw1qL0yRUO


45. Classify the following molecular solids into

different types. , , Solid ice, .

Watch Video Solution

HCI CO2 SO2

46. Define the following terms: Littice.

Watch Video Solution

47. Define the following terms: Basis.

Watch Video Solution

https://dl.doubtnut.com/l/_41lw1qL0yRUO
https://dl.doubtnut.com/l/_nY2B3dPeweww
https://dl.doubtnut.com/l/_Ok0OkkuJaJ0E


48. Define the following terms: Crystal.

Watch Video Solution

49. Diagammatically represent formation of

crystal.

Watch Video Solution

https://dl.doubtnut.com/l/_Ok0OkkuJaJ0E
https://dl.doubtnut.com/l/_RQekkWRoDlBB
https://dl.doubtnut.com/l/_i5St3uwqRjH7


50. Draw the unit cell parameters and explain

the symbols involved in it.

Watch Video Solution

51. What is a unit cell?

Watch Video Solution

52. Give the parameters of a unit cell.

Watch Video Solution

https://dl.doubtnut.com/l/_UZ6WcCml8T4Q
https://dl.doubtnut.com/l/_NEMmcSIaQRjb
https://dl.doubtnut.com/l/_4iESTxev8KIt


53. Write is a unit cell and give its parameters?

Watch Video Solution

54. What is a unit cell and give its parameters?

Watch Video Solution

55. Write a note on types of unit cell.

Watch Video Solution

https://dl.doubtnut.com/l/_4iESTxev8KIt
https://dl.doubtnut.com/l/_2qPN6pbbx4IU
https://dl.doubtnut.com/l/_KdmSD7Py0LzY
https://dl.doubtnut.com/l/_3JhiVtdmnNwU


56. By mathematical anylsis, how many space

latties/Bravis Lattices are possible?

Watch Video Solution

57. Distinguish between crystal lattice unit call.

Watch Video Solution

https://dl.doubtnut.com/l/_3JhiVtdmnNwU
https://dl.doubtnut.com/l/_DM7haxbMNRAA
https://dl.doubtnut.com/l/_wjbTXwuPFt6E


58. What are the different types of crystal

system.

Watch Video Solution

59. What is a cubic system?

Watch Video Solution

60. Classifty and discribe types of cubic unit

cells.

https://dl.doubtnut.com/l/_APF3w8D0rRHh
https://dl.doubtnut.com/l/_EYQ2y4Wikfv6
https://dl.doubtnut.com/l/_Bt6IOwLsVJGR


Watch Video Solution

61. Calculate number of atoms in : SSC

Watch Video Solution

62. Calculate number of atoms in : BCC

Watch Video Solution

63. Calculate number of atoms in : FCC

https://dl.doubtnut.com/l/_Bt6IOwLsVJGR
https://dl.doubtnut.com/l/_brmFOrNktphF
https://dl.doubtnut.com/l/_5hh68bJJrJz5
https://dl.doubtnut.com/l/_3KGpYlxJjdtj


Watch Video Solution

64. A face centred cube consists of how many

atoms? Explain.

Watch Video Solution

65. Calculate the number of atoms in FCC

Watch Video Solution

https://dl.doubtnut.com/l/_3KGpYlxJjdtj
https://dl.doubtnut.com/l/_32VEu9i1JUED
https://dl.doubtnut.com/l/_zTIilFw62U1N


66. Dervie a relationship between molar, mass,

density of subtances and unit cell edge length

for any substance.

Watch Video Solution

67. Obtain a relationship between density of a

subtances and edge length of unit cell.

Watch Video Solution

https://dl.doubtnut.com/l/_bwL4QlaDTBxU
https://dl.doubtnut.com/l/_LXqblKgyrCfu


68. Write the expression of Molar mass M of a

body centered cubic crystal of an ionic

compound if it has edge length of 'a' meter

and density p kg m-3.

Watch Video Solution

69. State the meaning of each of the

parameters in the equation p= ,

Watch Video Solution

nM

a3NA

https://dl.doubtnut.com/l/_0eWzf3LkJBCR
https://dl.doubtnut.com/l/_T4nYiCV7HVxr
https://dl.doubtnut.com/l/_YF55p22p5a6P


70. Define co-ordination number.

Watch Video Solution

71. Write a note on co-ordination number.

Watch Video Solution

72. explain close packing in one dimension.

Watch Video Solution

https://dl.doubtnut.com/l/_YF55p22p5a6P
https://dl.doubtnut.com/l/_WAB48fAgyIOv
https://dl.doubtnut.com/l/_tyyczW032OUt
https://dl.doubtnut.com/l/_DdvLNUu3OitB


73. Explain linear packing in one direction.

Watch Video Solution

74. Explain the following types of 2

dimensional arrangements. AAAA/Square

closed packing.

Watch Video Solution

https://dl.doubtnut.com/l/_DdvLNUu3OitB
https://dl.doubtnut.com/l/_LIcZebzxIIJl


75. Explain the following types of 2

dimensional arrangements. ABAB/Hexagonal

closed packing.

Watch Video Solution

76. Explain packing in simple cubic unit cell

crystal.

Watch Video Solution

https://dl.doubtnut.com/l/_rF5AKVsD6tN0
https://dl.doubtnut.com/l/_06rz88d2vidJ


77. Expalin square does packing in three

dimension.

Watch Video Solution

78. Expalin ABAB type arrangement in three

dimensions.

Watch Video Solution

https://dl.doubtnut.com/l/_QfojbmaaMVZM
https://dl.doubtnut.com/l/_fP8X38TCSttz


79. Explain hexagonal close packing in three

dimensions.

Watch Video Solution

80. Explain ABCABC type of three dimensional

arrangement.

Watch Video Solution

https://dl.doubtnut.com/l/_Vz3ie847hxza
https://dl.doubtnut.com/l/_XD97xXRVhKM2


81. Explain cubic close pakcing in three

dimension.

Watch Video Solution

82. Write a note on tetrahedral void.

Watch Video Solution

83. Explain tetrahedral void.

Watch Video Solution

https://dl.doubtnut.com/l/_zCffAT3ThmgT
https://dl.doubtnut.com/l/_bGxIpxR2smmX
https://dl.doubtnut.com/l/_HGXlMN6UyCEt


84. Sketch a tetrahedral void.

Watch Video Solution

85. Distiguish between hexagonal close

packing and cubic pakcing.

Watch Video Solution

86. Write note on Octahedral void.

https://dl.doubtnut.com/l/_HGXlMN6UyCEt
https://dl.doubtnut.com/l/_64OLjjJ5Rvhm
https://dl.doubtnut.com/l/_PiwVgj7LuHoc
https://dl.doubtnut.com/l/_q2hiykegLicP


Watch Video Solution

87. Explain Octahedral void.

Watch Video Solution

88. Draw a diagram of an octahedral void.

Watch Video Solution

https://dl.doubtnut.com/l/_q2hiykegLicP
https://dl.doubtnut.com/l/_YNaUKWnNXfYf
https://dl.doubtnut.com/l/_tGbKlYMBcTYb


89. What is the ration octahedral voids to the

number of atoms in hexagonal close packed

structure?

Watch Video Solution

90. How are tetrahedral and octahedral voids

formed?

Watch Video Solution

https://dl.doubtnut.com/l/_wPAze0IhcVlW
https://dl.doubtnut.com/l/_anBAQIODdNdX


91. Distinuish between Tetrahedral and

Octahedral void.

Watch Video Solution

92. How are spheres arranged in first layer of

cubic close-packed structures? How are

successive layers of spheres placed above this

layers?

Watch Video Solution

https://dl.doubtnut.com/l/_nZvVmHl6yM9Z
https://dl.doubtnut.com/l/_tf7jH3mMFLul
https://dl.doubtnut.com/l/_R0VnexOhAzAH


93. Mention two properties that are common

both hcp and ccp lattices.

Watch Video Solution

94. What is the numbe rof octachedral vocids

per sphere for an fcc/ccp arrangement?

Watch Video Solution

https://dl.doubtnut.com/l/_R0VnexOhAzAH
https://dl.doubtnut.com/l/_UidaVWXbIrLP


95. What is the number of octahedral voids

per sphere in hcp arrangement?

Watch Video Solution

96. What is the number of terahedral voids per

sphere in fcc/ccp arrangement?

Watch Video Solution

https://dl.doubtnut.com/l/_VoyVi1Guwnrl
https://dl.doubtnut.com/l/_i0t7Zezn2JP0


97. What is the number of terahedral voids per

sphere in hcp arrangement?

Watch Video Solution

98. Mention the co-ordination number of sc,fcc

and hcp structures.

Watch Video Solution

https://dl.doubtnut.com/l/_zlibK9aeZ0jX
https://dl.doubtnut.com/l/_vpNkrtghrIQi


99. In a crystla of zinc sulphid,zinc occupies

tetrahedral voids. What is the co-ordination

number of zinc?

Watch Video Solution

100. How many octahedral voids are there in 1

mole of a compound having cubic closed

packed structure?

Watch Video Solution

https://dl.doubtnut.com/l/_z1nXJlwfl1k1
https://dl.doubtnut.com/l/_mD4MtYeygMfO
https://dl.doubtnut.com/l/_HUoi2sicMemn


101. Write the formulae of packing effeiciency

and packing fraction.

Watch Video Solution

102. Write the steps involved to calculate the

percentage of efficiency of packing of simple

cubic crystal Or packing efficiency for simple

cubic unit cell? Or Calculate the paking

efficiency of metal crystal that has simple

cubic structure?

Watch Video Solution

https://dl.doubtnut.com/l/_HUoi2sicMemn
https://dl.doubtnut.com/l/_xnEbT9plvmxM


103. Write the steps involved in the calculation

of packing Efficiency for bcc unit call.

Watch Video Solution

104. Write the steps involved in the calculation

of packing Efficiency for face centered cubic

lattice.

Watch Video Solution

https://dl.doubtnut.com/l/_xnEbT9plvmxM
https://dl.doubtnut.com/l/_aY3sXM0gjf8C
https://dl.doubtnut.com/l/_wYxLiHHfLCzb
https://dl.doubtnut.com/l/_4Ftk1jrUnsXO


105. Which of the three lattices scc, bcc, fcc has

most efficient and least efficent packing of

particles?

Watch Video Solution

106. Which of the three types of packing used

by metals makes-the most efficient used of

space and which makes the least efficient use?

Watch Video Solution

https://dl.doubtnut.com/l/_4Ftk1jrUnsXO
https://dl.doubtnut.com/l/_wH9grUAPGH33
https://dl.doubtnut.com/l/_RGpsRcj4DvK3


107. Derive a relation to find: number of

particles.

Watch Video Solution

108. Derive a relation to find: Number of unit

cells in x g metal.

Watch Video Solution

109. What are the number of unit cells in

volume V of metal?

https://dl.doubtnut.com/l/_RGpsRcj4DvK3
https://dl.doubtnut.com/l/_YzIx5zIaZoAR
https://dl.doubtnut.com/l/_3TOY75GfqvUK


Watch Video Solution

110. What are crystal defects?

Watch Video Solution

111. What are point defects?

Watch Video Solution

https://dl.doubtnut.com/l/_3TOY75GfqvUK
https://dl.doubtnut.com/l/_tr3R0mjTlc2p
https://dl.doubtnut.com/l/_9OSINyexGWjB


112. What happens to the defects if the

crystallization takes place at a slower rate?

Watch Video Solution

113. At what temperature ideal crystals with no

imperfection are possible?

Watch Video Solution

114. Write a note on defects in crystal lattice.

https://dl.doubtnut.com/l/_ZvcaXVxjBngF
https://dl.doubtnut.com/l/_XNWCecdVDQ2T
https://dl.doubtnut.com/l/_ySaIRLRPuj7k


Watch Video Solution

115. Name the major classes of point defects?

Watch Video Solution

116. What is a stoichiometric defect in crystals?

Watch Video Solution

https://dl.doubtnut.com/l/_ySaIRLRPuj7k
https://dl.doubtnut.com/l/_zy9BQQQU3gkV
https://dl.doubtnut.com/l/_GmxAq4ENt2My


117. Distingusih between stoichiometric

defects and non stoichiometic defects.

Watch Video Solution

118. Write a note on vacany defect with

diagram.

Watch Video Solution

https://dl.doubtnut.com/l/_Gp7MKvnOzTyI
https://dl.doubtnut.com/l/_tb405DF4h05Y


119. Write a note on the two types of self

interstitial defect in an element solid.

Watch Video Solution

120. Explain the term Schottky defect.

Watch Video Solution

121. Describe Schottky defects in crystals.

Watch Video Solution

https://dl.doubtnut.com/l/_39DX0dWWBVry
https://dl.doubtnut.com/l/_Xtbohli0lkcB
https://dl.doubtnut.com/l/_TQT6Jaj3NaFC


122. What are the conditions required of

Schottky defect?

Watch Video Solution

123. What are the consequences of schottky

defect?

Watch Video Solution

https://dl.doubtnut.com/l/_TQT6Jaj3NaFC
https://dl.doubtnut.com/l/_y6RGLwNMeUFP
https://dl.doubtnut.com/l/_K8u6pPWpAt3o


124. Mention examples of Schottky defect.

Watch Video Solution

125. How would you account for the effect of

Schottky defect on the density of the ionic

solid?

Watch Video Solution

126. Write a note on Frenkel Defect.

https://dl.doubtnut.com/l/_90VxIBZPAhJx
https://dl.doubtnut.com/l/_MRX1LdaPmzYf
https://dl.doubtnut.com/l/_PvGBbRRwRO7Q


Watch Video Solution

127. What are the conditions and consequence

of Frenkel Defect.

Watch Video Solution

128. Write examples of ionic solids with frenkel

Defect.

Watch Video Solution

https://dl.doubtnut.com/l/_PvGBbRRwRO7Q
https://dl.doubtnut.com/l/_2ctl8JJJktoi
https://dl.doubtnut.com/l/_GVlXwoBxkJz0
https://dl.doubtnut.com/l/_jl9zFrdoCaJg


129. Name the type of point defect that occurs

in a crystal of zinc sulphide?

Watch Video Solution

130. Why Frankel defect is found in AgCI?

Watch Video Solution

131. Why is Frankel defect is not found in pure

alkali metal halide?

https://dl.doubtnut.com/l/_jl9zFrdoCaJg
https://dl.doubtnut.com/l/_3yXR7BULG8kO
https://dl.doubtnut.com/l/_FsDEcWdwFZRW


Watch Video Solution

132. Name the ionic compound which shows

both Schottky and Frenkel defect?

Watch Video Solution

133. Distinguish between Schottky defect and

Frankel defect.

Watch Video Solution

https://dl.doubtnut.com/l/_FsDEcWdwFZRW
https://dl.doubtnut.com/l/_hf9fcrEuDYtQ
https://dl.doubtnut.com/l/_nnwKkNT7Bb34
https://dl.doubtnut.com/l/_SWBwSExi5Hpa


134. When do impurity defects airse.

Watch Video Solution

135. Write a note on substituational impurity

defect.

Watch Video Solution

136. Write a note on "Vacancy through

aliovalent impurity" type of substitutional

https://dl.doubtnut.com/l/_SWBwSExi5Hpa
https://dl.doubtnut.com/l/_6C2DME0yVxhF
https://dl.doubtnut.com/l/_IicKgC4Aak4J


impurity defect using example of NaCI and

.

Watch Video Solution

SrCI2

137. Write a note on interstitial impurity defect

with example.

Watch Video Solution

138. Explain impurity defect in stainless steel

with diagram.

https://dl.doubtnut.com/l/_IicKgC4Aak4J
https://dl.doubtnut.com/l/_oSOtb3yQTI5R
https://dl.doubtnut.com/l/_BNnMZrKdJ85g


Watch Video Solution

139. Write a note on non-stoichiometric

defects.

Watch Video Solution

140. Write a note on metal deficieny defect

with an example and its diagram.

Watch Video Solution

https://dl.doubtnut.com/l/_BNnMZrKdJ85g
https://dl.doubtnut.com/l/_syvulzBiaaH3
https://dl.doubtnut.com/l/_ZKqoLKAQ8oaH
https://dl.doubtnut.com/l/_LSinX0SvMuAa


141. Explain a note on metal excess defect?

Watch Video Solution

142. Explain F-centers with an example.

Watch Video Solution

143. Complete the following and rewrite: NaCI

F= center prossesses______colour.

Watch Video Solution

https://dl.doubtnut.com/l/_LSinX0SvMuAa
https://dl.doubtnut.com/l/_F0uAKH4OdWJv
https://dl.doubtnut.com/l/_sHEs3xnZwoYi


144. Complete the following and rewrite: F

centers are caused by _________ __________________.

Watch Video Solution

145. Complete the following and rewrite: Metal

deficiency defect is a ___________type of defect.

Watch Video Solution

https://dl.doubtnut.com/l/_sHEs3xnZwoYi
https://dl.doubtnut.com/l/_ULRGWMom2W07
https://dl.doubtnut.com/l/_HyxxCTZZMxY7


146. Complete the following and rewrite: The

present of paried cation-anion vacancy leads

to _________type of defect.

Watch Video Solution

147. Complete the following and rewrite:

Stainless steal shows ________type of defect.

Watch Video Solution

https://dl.doubtnut.com/l/_j0Axd7LQKjfA
https://dl.doubtnut.com/l/_7H0QogLRfFxY


148. Complete the following and rewrite:

____________ defect occur with large difference

in size of cation and anions.

Watch Video Solution

149. Complete the following and rewrite:

___________ defect occurs with very samll

difference in sizes of cation and anion.

Watch Video Solution

https://dl.doubtnut.com/l/_v8sR0CyMV8uD
https://dl.doubtnut.com/l/_pvUJLdTiGOqo
https://dl.doubtnut.com/l/_BG1kAy4mjURe


150. What is F-centre?

Watch Video Solution

151. Name the non-stoichiometric points

defect resposible for colour in alkali metla

halides.

Watch Video Solution

https://dl.doubtnut.com/l/_BG1kAy4mjURe
https://dl.doubtnut.com/l/_Ps7ErqsFEE0u


152. When ZnO is heated it turns yellow and

returns back to original white colour on

cooling. What could be the reason?

Watch Video Solution

153. What is electical conductivity?

Watch Video Solution

https://dl.doubtnut.com/l/_VCQB1zMkwTak
https://dl.doubtnut.com/l/_CPv66AOPu1bh


154. What is meant by the elctrical Insulators

and Semi conductors?

Watch Video Solution

155. Distinuish between conductors, Insulators

and Semi conductors.

Watch Video Solution

https://dl.doubtnut.com/l/_27EmdD1IouFA
https://dl.doubtnut.com/l/_kIrzQXX1D8p5


156. Difference between 1. Conductors and

Insulators 2. Conductors and Semiconductors.

Watch Video Solution

157. Explain band theory

Watch Video Solution

158. Write a note on band theory.

Watch Video Solution

https://dl.doubtnut.com/l/_fGjkzFAHxfE7
https://dl.doubtnut.com/l/_DbRrD3nu3nfY
https://dl.doubtnut.com/l/_6CHJsfi4bQAb


159. What is a band gap?

Watch Video Solution

160. What is a forbidden zone?

Watch Video Solution

161. What are the valece band and conduction

band?

https://dl.doubtnut.com/l/_6CHJsfi4bQAb
https://dl.doubtnut.com/l/_Xc5UARe29OlA
https://dl.doubtnut.com/l/_Kew2kHkFs4JL
https://dl.doubtnut.com/l/_37czcS5rKQMl


Watch Video Solution

162. Explain electrical property of: metallic

conductors.

Watch Video Solution

163. Explain electrical property of: Insulators.

Watch Video Solution

https://dl.doubtnut.com/l/_37czcS5rKQMl
https://dl.doubtnut.com/l/_nrn3KvQrF5MX
https://dl.doubtnut.com/l/_IXHnN5lLKmBj


164. Explain electrical property of:

Semiconductors, on the basis of band theory.

Watch Video Solution

165. On the basis of Band theory, give reasons:

Metals are good conductors of electricity.

Watch Video Solution

https://dl.doubtnut.com/l/_DAfnVV2ZBE5W
https://dl.doubtnut.com/l/_wfu9Bv8rjkzd


166. On the basis of Band theory, give reasons:

Insulators have extremely low conductivity.

Watch Video Solution

167. On the basis of Band theory, give reasons:

Semi conductors show some conductivity.

Watch Video Solution

https://dl.doubtnut.com/l/_3EmDoZ8NXOJE
https://dl.doubtnut.com/l/_ysN47vV2Qfon


168. The picture represents bands of MO s for

Si. Label Valence band, Conduction band and

Band gap.

Watch Video Solution

169. How does electical conductivity of a metal

chandge with temperature?

Watch Video Solution

https://dl.doubtnut.com/l/_9NpfQv2f3r3B
https://dl.doubtnut.com/l/_zM28zFG024MY


170. Explain variation of conductivity of a

semiconductor with temperature.

Watch Video Solution

171. How does the conductivity of a

semiconductor change with temperature?

Why?

Watch Video Solution

https://dl.doubtnut.com/l/_VNvfThICm2wm
https://dl.doubtnut.com/l/_7pSFbolrWjm2


172. Define: Intrinsic semiconductors.

Watch Video Solution

173. Define: Extrinsic semiconductors.

Watch Video Solution

174. Write a note on doping.

Watch Video Solution

https://dl.doubtnut.com/l/_icRoFGZ87PlU
https://dl.doubtnut.com/l/_Q3tyCiYdRsJ7
https://dl.doubtnut.com/l/_GK4t1hntDHb0


175. What is doping?

Watch Video Solution

176. What is a dopant?

Watch Video Solution

177. How many molecular orbitals are formed

by interaction of two atomic orbitals?

Watch Video Solution

https://dl.doubtnut.com/l/_RNWQsC8dTXaF
https://dl.doubtnut.com/l/_odWcRZtLCQkU
https://dl.doubtnut.com/l/_DFDHkinhhcoo


178. Let a small quantity of phosphorus be

doped into pure silicon. Will the resulting

material contain same no. of total electrons as

original pure silicon?

Watch Video Solution

179. What is metallic bond?

Watch Video Solution

https://dl.doubtnut.com/l/_DFDHkinhhcoo
https://dl.doubtnut.com/l/_y4CrfNU6FsKN
https://dl.doubtnut.com/l/_Sg6gkvjUfs9i
https://dl.doubtnut.com/l/_lpY7srurXUVk


180. What are n-type semiconductors?

Watch Video Solution

181. Why is the conductivity of doped n-type

semicodnuctor highter than that of pure

semicodnuctor? Explain with diagram.

Watch Video Solution

182. Explain doping of Silicon with Phosphorus.

https://dl.doubtnut.com/l/_lpY7srurXUVk
https://dl.doubtnut.com/l/_6WaWhwr2rGhK
https://dl.doubtnut.com/l/_IjR08jTSXAFX


Watch Video Solution

183. Expalin n-type semiconductor with an

example.

Watch Video Solution

184. Write examples of n-type semiconductor.

Watch Video Solution

https://dl.doubtnut.com/l/_IjR08jTSXAFX
https://dl.doubtnut.com/l/_fHlSs1l5ztUh
https://dl.doubtnut.com/l/_bZH44Y8On2I5


185. Write anote on p-type semiconductor

usign an example.

Watch Video Solution

186. Write an example of p-type

semiconductor.

Watch Video Solution

https://dl.doubtnut.com/l/_oLlW3pVHazON
https://dl.doubtnut.com/l/_GBSlOWI2EqX9


187. Classify the following semiconductors into

n-type of p-typ: B doped with Si

Watch Video Solution

188. Classify the following semiconductors into

n-type or p-type: As doped with Si

Watch Video Solution

https://dl.doubtnut.com/l/_wWx9coEUVpCc
https://dl.doubtnut.com/l/_wKcqwNLzqWMI


189. Classify the following semiconductors into

n-type of p-typ: P doped with Si

Watch Video Solution

190. Classify the following semiconductors into

n-type of p-typ: Ge doped with In

Watch Video Solution

https://dl.doubtnut.com/l/_G1e9LYMC6bPc
https://dl.doubtnut.com/l/_u6r7wI85Jga7


191. A group 14 elements is to be converted

into n-type semiconductor by doping it with a

suitable impurity. To which group should the

impurity belong?

Watch Video Solution

192. Explain the origin of magnetic properties

in solids.

Watch Video Solution

https://dl.doubtnut.com/l/_q6fgCNghzli4
https://dl.doubtnut.com/l/_edE7eOf5vky0
https://dl.doubtnut.com/l/_K2EI1P4zGWZY


193. What are diamagnetic substances? Give

examples.

Watch Video Solution

194. What are paramegnetic substances? Give

examples.

Watch Video Solution

https://dl.doubtnut.com/l/_K2EI1P4zGWZY
https://dl.doubtnut.com/l/_LkqmuYt0q7Hn


195. What are ferromagnetic substances? Give

examples.

Watch Video Solution

196. What are ferromagnetic substances?

Watch Video Solution

197. Define ferromagnetism materials. Explain

why iron is a strong ferromagnet.

https://dl.doubtnut.com/l/_l3W6tbzaNUVQ
https://dl.doubtnut.com/l/_EnjqNQ9qJkFm
https://dl.doubtnut.com/l/_WDMUQjN6m9qb


Watch Video Solution

198. Atoms C and D form fcc crystalline

structure. Atom C is present at the corners of

the cube and D is at faces of the cube. What is

the formula of the compound?

Watch Video Solution

199. A element A and B constitue bcc type

crystalline structure. Element A occupies body

https://dl.doubtnut.com/l/_WDMUQjN6m9qb
https://dl.doubtnut.com/l/_Vv0kbL3AApK8
https://dl.doubtnut.com/l/_P9gckgus08fJ


centered position and B is at the corners of

cube. What is the formula of the compound?

What are the co-ordination numbers of A and

B?

Watch Video Solution

200. In a crystalline compound atoms AB, A

occupies CCP latties while B occupies all of

tetrahedral voids. What is the formula of the

compound?

Watch Video Solution

https://dl.doubtnut.com/l/_P9gckgus08fJ
https://dl.doubtnut.com/l/_nLgzVaj41B7j


201. A compound is formed CCP and atoms of

A and B. The elemetn B formed CCP and atoms

of A occupy 1/3rd of octahedral voids. What is

the formula of compound.

Watch Video Solution

202. Sikver crystallizes in fcc structure with

edge length of unit cell, cm and if

density of metallic silver is .

Calculate the molecular mass of silver.

4.07 × 10− 8

10.5gcm− 3

https://dl.doubtnut.com/l/_nLgzVaj41B7j
https://dl.doubtnut.com/l/_TYpiCsxavGny
https://dl.doubtnut.com/l/_ixeLvadX9KAh


Watch Video Solution

203. Determine the density of cesium chloride

which crystallizes in a bcc type structure with

the edge length 412.1 pm. The atomic masses

of Cs and CI are 133 and 35.5 respectively.

Watch Video Solution

204. Unit call of iron crystal has edge length of

288 pm and density of 7.86 g , Determinecm3

https://dl.doubtnut.com/l/_ixeLvadX9KAh
https://dl.doubtnut.com/l/_skAAyEo70EuU
https://dl.doubtnut.com/l/_4J9ehTbmkT7h


the type of crystla lattice.

Watch Video Solution

205. Calculate the numbe rof atoms present in

2 grams of crystal which his face centred cubic

lattice having edge length of 100 pm and

density 10g 

Watch Video Solution

cm3

https://dl.doubtnut.com/l/_4J9ehTbmkT7h
https://dl.doubtnut.com/l/_92ZH6f8tcDsr


206. Copper crystallizes into a fcc structure

and the unit cell has length of edge

cm. Calculate the dentsity of

copper if the molar mass of Cu is 63.5g 

Watch Video Solution

3.16 × 10− 4

mol− 1

207. Niobium is found to crystalline with bcc

structure and found to have denstiy of

. Determine the atomic redius if

niobium of its atmic mass is 93 u.

8.55gcm− 3

https://dl.doubtnut.com/l/_DEDKuMwVzYf7
https://dl.doubtnut.com/l/_wJXZ6SWgxetW


Watch Video Solution

208. Gold occurs as face centred cube and has

a density of 19.30 kg dm. Calculate atomic

redius of gold.

Watch Video Solution

209. In a crystalline compound, atoms C

occupy CCP lattices while atoms D occupy

2/3rd tetrahedral voids, what is the formula of

compound?

https://dl.doubtnut.com/l/_wJXZ6SWgxetW
https://dl.doubtnut.com/l/_O42POsrhjcXQ
https://dl.doubtnut.com/l/_acz5nCo6joIA


Watch Video Solution

210. A metallic element exists as a cubic lattice.

Each edge of the unit cell is 2.88 A. The density

of the metal is . How many unit cells

will be there in 100 g of the metal?

Watch Video Solution

7.20 m3g

c

211. Face centred cubic crystal lattice of copper

has density of 8.966 g . Calculate thecm− 3

https://dl.doubtnut.com/l/_acz5nCo6joIA
https://dl.doubtnut.com/l/_ggrWDjIX6NJi
https://dl.doubtnut.com/l/_iUpokR7J5CSQ


volume of the unit cell.

Watch Video Solution

212. An atom crystallises in fcc crystal lattice

and has a density of 10 g  with unit cell

edge length of 100 pm. Calculate number of

atoms present in 1 g of crystal.

Watch Video Solution

cm− 3

https://dl.doubtnut.com/l/_iUpokR7J5CSQ
https://dl.doubtnut.com/l/_FAjH5nMIBWGv


213. Zinc sulphide crystallises with zinc ions

occupying half of the tetarhedral holes in a

lclosest packed array of sulphide ions. What is

the formula of zinc sulphide?

Watch Video Solution

214. Cu crystallizes in fac cell with edge lenght

of 495 pm. Calculate its radius.

Watch Video Solution

https://dl.doubtnut.com/l/_qQBnTNx1DpM7
https://dl.doubtnut.com/l/_hCOnfzMq8adB
https://dl.doubtnut.com/l/_sRknQyD4ZcoS


215. The density of iridium is . The

unit cell of iridium is fcc. Calculate its radium

given molar mass is 192.2 g/mol.

Watch Video Solution

22.4 m3g

c

216. Calculate the number of unit cells in 1.00

 of Al given edge length of 353.6 pm and

fcc structure.

Watch Video Solution

cm3

https://dl.doubtnut.com/l/_sRknQyD4ZcoS
https://dl.doubtnut.com/l/_CCqHCpvXouUP
https://dl.doubtnut.com/l/_D0RbPkPsU306


217. In an ionic crystalline solid atoms of

element Y, form hcp lattice. The atoms of

element X occupy one third of tetrahedral

voids. What is the formula of the compound?

Watch Video Solution

218. An element with molar mass 27/mol forms

cubic unit cell with edge length 405 pm. If

density is given  find the type of cubic

unit cell it forms. We try to find the no. of

atoms in each unit cell.

2.7 m3g

c

https://dl.doubtnut.com/l/_D0RbPkPsU306
https://dl.doubtnut.com/l/_IgyTbzxJzPiM


Watch Video Solution

219. An element has bcc studture with unit cell

edge length of 288 pm. How many unit cells

and no. of atoms are present in  of

element?

Watch Video Solution

200cm3

220. A metal crystallizes in two forms FCC and

BCC each with edge lengths 3.5A and 3.0 A

respectively. Find ration of their densities. Nite

https://dl.doubtnut.com/l/_IgyTbzxJzPiM
https://dl.doubtnut.com/l/_AQ0rpyM87jU5
https://dl.doubtnut.com/l/_MgFfQdjZrfs2


in both cases the molar of the element does

not change.

Watch Video Solution

221. Density of silver is  with molar

mass 107.8 g/mol and edge length

 cm. Find the no of silver a toms

in each unit cell.

Watch Video Solution

10.8 m3g

c

4.05 × 10− 8

https://dl.doubtnut.com/l/_MgFfQdjZrfs2
https://dl.doubtnut.com/l/_t4WJEAePGvCg


222. CsCI crystallizes in cubic unit with 

at corners and  at the centre of the cube.

How many CsCI molecules are these in each

unit cell?

Watch Video Solution

CI −

Cs+

223. The unit cell of metallic Silver is FCC. If

radius of Ag atom is 144.4pm, calculate (a)

edge length of unit cell volume of Ag atom,

the percentage of the volume of a unit cell,

https://dl.doubtnut.com/l/_ZO4AEKvZv17R
https://dl.doubtnut.com/l/_ZElhtUncLWPj


that is occupied by Ag atoms, the present of

empty space.

Watch Video Solution

224. A compound forms hcp structure. What is

the number of octahedral voids, tetrahedral

voids and total voids formed in 0.4 mol of it.

Watch Video Solution

https://dl.doubtnut.com/l/_ZElhtUncLWPj
https://dl.doubtnut.com/l/_1HHF1xEDRzO9


Exercise

225. The density of iron is .

Edge length is 2.8 no and atomic mass

. Find on of atoms in unit cell.

Watch Video Solution

8.54(g(cm− 3))

56(g(mol)) − 1

1. A compound having bcc geometry has

atomic mass 50. Calculate the density of the

unit cell, if its edge length is 290 p.m.

https://dl.doubtnut.com/l/_uWDpccynpXbv
https://dl.doubtnut.com/l/_4pw4PUTuX3Tf


Watch Video Solution

2. An element has a body centred cubic

structure with a cell edge of 288 pm. The

density of element is 7.2 g cm-3. How many

atoms are present in 208 g of this element?

Watch Video Solution

3. X-ray diffraction studies show that copper

crystallizes in an fcc unit cell edge of

 cm. In a separate experiment,3.608 × 10− 8

https://dl.doubtnut.com/l/_4pw4PUTuX3Tf
https://dl.doubtnut.com/l/_31CwIrprIqbP
https://dl.doubtnut.com/l/_4pSDzJIewo2E


copper is determined to have a density

. Calculate the atomic mass of

copper.

Watch Video Solution

8.92gcm− 3

4. A compound forms hexagonal close packed

structure. What is the total number of voids in

0.5 mol of it? How many of these are

tetrahedral voids?

Watch Video Solution

https://dl.doubtnut.com/l/_4pSDzJIewo2E
https://dl.doubtnut.com/l/_XgZcHPIekTSr
https://dl.doubtnut.com/l/_urAOrj98LtSZ


5. Atoms of element B form hcp lattice and

those of the element A occupy  of

tetrahedral voids. What is the formula of the

compoound formed by the elements A and B?

Watch Video Solution

2

3rd

6. Gold occurs as face centred cube and has a

density of 19.30 kg dm. Calculate atomic redius

of gold.

Watch Video Solution

https://dl.doubtnut.com/l/_urAOrj98LtSZ
https://dl.doubtnut.com/l/_1LGyHSWlUYW7


7. What is the ration of packing effciency in fcc

and bcc crystals of the metal?

Watch Video Solution

8. Sodium metal crystalizes in bcc structure

with the edge length of unit cell 

cm. Calculate the radius of sodium atom.

Watch Video Solution

4.29 × 10− 8

https://dl.doubtnut.com/l/_K2IGNdHZP4XL
https://dl.doubtnut.com/l/_IPhGsE0gbIGn


9. Niobium forms bcc structure. The density of

niobium is  and length of unit edge

is 330.6 pm. How many atoms and unit cells

are present in 0.5g of niobium?

Watch Video Solution

8.55gcm− 3

10. Molecular solids are

A. crystalline solids

B. amorphous solids

https://dl.doubtnut.com/l/_4UhGutYkfCEO
https://dl.doubtnut.com/l/_iyYbsSuTMJiZ


C. ionic solids

D. metallic solids

Answer:

Watch Video Solution

11. Which of the following is not correct?

A. Four spheres are involved in the

formation of tetrahedral void

https://dl.doubtnut.com/l/_iyYbsSuTMJiZ
https://dl.doubtnut.com/l/_IhGtmm4LRwio


B. The centres ofspheres in octahedral

voids are at the apices of a regular

tetrahedron

C. If the number of atoms is N the number

of octahedral voids is 2N

D. If the number of atoms is N/2, the

number of tetrahedral voids is N.

Answer:

Watch Video Solution

https://dl.doubtnut.com/l/_IhGtmm4LRwio
https://dl.doubtnut.com/l/_Y4wvvLe6qvfn


12. Is solids, the constitutent particles may be

A. atoms

B. ions

C. molecules

D. any one of the above three

Answer:

Watch Video Solution

https://dl.doubtnut.com/l/_Y4wvvLe6qvfn


13. A single substance that exists in two or

more forms is called.

A. polymorphous

B. amorphous

C. isomorphous

D. monomorphous

Answer:

Watch Video Solution

https://dl.doubtnut.com/l/_ejsP3pxYBa2y
https://dl.doubtnut.com/l/_Ag73yPj9s157


14. Graphite is a

A. metallic crystal

B. covalent crystal

C. ionic crystal

D. molecular srystal

Answer:

Watch Video Solution

15. Diamond is a

https://dl.doubtnut.com/l/_Ag73yPj9s157
https://dl.doubtnut.com/l/_vfHkz1nXMyF4


A. metallic crystal

B. convalent crystal

C. ionic crystal

D. molecular crystal

Answer:

Watch Video Solution

16. The ratio of close packed atoms to

tetrahedral holes in cubic pakcing is

https://dl.doubtnut.com/l/_vfHkz1nXMyF4
https://dl.doubtnut.com/l/_KQIvwU4qFLOY


A. 0.042361111111111

B. 0.043055555555556

C. 0.084027777777778

D. 0.04375

Answer:

Watch Video Solution

17. The ratio of closed packed atoms to

octahedral holes in hexagonal close packign is

https://dl.doubtnut.com/l/_KQIvwU4qFLOY
https://dl.doubtnut.com/l/_Myv2zyabfrXl


A. 0.042361111111111

B. 0.043055555555556

C. 0.084027777777778

D. 0.04375

Answer:

Watch Video Solution

18. The number of tetrahedral sites per sphere

in cpp structure is

https://dl.doubtnut.com/l/_Myv2zyabfrXl
https://dl.doubtnut.com/l/_aUvwV4INIOyT


A. 1

B. 2

C. 3

D. 4

Answer:

Watch Video Solution

19. The number of tetrahedral sites per sphere

in cpp structure is

https://dl.doubtnut.com/l/_aUvwV4INIOyT
https://dl.doubtnut.com/l/_6mrmoOhsAZKa


A. 1

B. 2

C. 3

D. 4

Answer:

Watch Video Solution

20. The packing efficiency for a body centred

cubic Structure is

https://dl.doubtnut.com/l/_6mrmoOhsAZKa
https://dl.doubtnut.com/l/_Zbu9yWL3BW06


A. 0.42

B. 0.53

C. 0.68

D. 0.82

Answer:

Watch Video Solution

21. Due to Frenkel defect the density of ionic

solid

https://dl.doubtnut.com/l/_Zbu9yWL3BW06
https://dl.doubtnut.com/l/_CeOIrEqZni6O


A. increases

B. decreases

C. remains same

D. fluctuates

Answer:

Watch Video Solution

22. An ionic compound  occurs in fcc

type crystal strucutre with B ion at the cnetre

AxBy

https://dl.doubtnut.com/l/_CeOIrEqZni6O
https://dl.doubtnut.com/l/_bxyNtxd2io68


of each face and A ion occupying conrners of

the cube. Give the formula .

A. 

B. 

C. 

D. 

Answer:

Watch Video Solution

AxBy

AB3

AB4

A3B

A4B

https://dl.doubtnut.com/l/_bxyNtxd2io68


23. % packing efficiency of FCC crystal is ?

A. 0.68

B. 0.52

C. 0.75

D. 0.81

Answer:

Watch Video Solution

https://dl.doubtnut.com/l/_eIh3Q4B5cvfM


24. In crystalline solid few of the cations

moved from their positions into the

interstitial position. The defect is called as

A. interstitial defect

B. Frenkel defect

C. Schottky defect

D. line defect

Answer:

Watch Video Solution

https://dl.doubtnut.com/l/_cDdlzImdJxTV


25. Semicoductors are manufactured by

addition of impurities of

A. p-block elements

B. actinoids

C. lanthanoids

D. s-block elements

Answer:

Watch Video Solution

https://dl.doubtnut.com/l/_jLQd0KPkyrmv
https://dl.doubtnut.com/l/_BdOPsNVd6mvs


26. p-type semi conductor is formed when

trace amount of impurity is added to silicon.

The number of valence electrons in the

impurity atom must be

A. 3

B. 5

C. 1

D. 2

Answer:

Watch Video Solution

https://dl.doubtnut.com/l/_BdOPsNVd6mvs


27. n-type semiconductor is formed when trace

amount of impurity is added to silicon. The

number of electrons in the impurity atom

must be

A. 3

B. 5

C. 1

D. 2

Answer:

https://dl.doubtnut.com/l/_BdOPsNVd6mvs
https://dl.doubtnut.com/l/_RYimLYI2HXDh


Watch Video Solution

28. Which is covalent network solid?

A. 

B. 

C. Graphite

D. All of the three

Answer:

Watch Video Solution

Fe2O3

NF3

https://dl.doubtnut.com/l/_RYimLYI2HXDh
https://dl.doubtnut.com/l/_2qTNxilUh1DQ


29. Which one of the following is a good

conductor of electricity?

A. posphours

B. graphite

C. chlorine

D. silicon

Answer:

Watch Video Solution

https://dl.doubtnut.com/l/_K9s4KjRMkIJS
https://dl.doubtnut.com/l/_uK5FphzKLA9Y


30. Which of the following defect, if presetn,

lowers the density of the crystla?

A. Frenkel

B. Schottky

C. edge dislocation

D. constitution of centres

Answer:

Watch Video Solution

https://dl.doubtnut.com/l/_uK5FphzKLA9Y


31. How many kinds of space lattices are

possible in a crystal?

A. 23

B. 7

C. 30

D. 14

Answer:

Watch Video Solution

https://dl.doubtnut.com/l/_zYoCogouoDyQ
https://dl.doubtnut.com/l/_zHpU1nfyw1U4


32. Which has minimum present volume

occupied by the sphere?

A. Simple cubic

B. Body-centred cubic

C. Hexagonal closest packed

D. Cubic closest packed

Answer:

Watch Video Solution

https://dl.doubtnut.com/l/_zHpU1nfyw1U4


33. In hcp structure, the packing fraction is

A. 0.74

B. 0.84

C. 0.94

D. 0.64

Answer:

Watch Video Solution

https://dl.doubtnut.com/l/_2rWSegZiMfii


34. Which of the followign best defines a

crystal?

A. a coloured substance soluble in water

B. A clear substance which can transmit

light

C. A simple lattice containing ions, atoms

or molecules

D. A salt which has been grown from a

saturated solution

https://dl.doubtnut.com/l/_jvfKemQF0bwO


Answer:

Watch Video Solution

35. Calculate number of atoms in : SSC

A. 1

B. 2

C. 3

D. 4

Answer:

https://dl.doubtnut.com/l/_jvfKemQF0bwO
https://dl.doubtnut.com/l/_Qfx9OKj3Arak


Watch Video Solution

36. Calculate number of atoms in : FCC

A. 4

B. 6

C. 8

D. 12

Answer:

Watch Video Solution

https://dl.doubtnut.com/l/_Qfx9OKj3Arak
https://dl.doubtnut.com/l/_j4vv2s20hkZu


37. Calculate number of atoms in : BCC

A. 1

B. 2

C. 3

D. 4

Answer:

Watch Video Solution

https://dl.doubtnut.com/l/_j4vv2s20hkZu
https://dl.doubtnut.com/l/_V8N4AnkCHmM4


38. Sodium chlorid crystal consists of:

A. NaCI molecules

B. Na and CI atoms

C.  and  molecules

D.  and  ions

Answer:

Watch Video Solution

Na+ CI −

Na+ CI −

https://dl.doubtnut.com/l/_PDYMqGX8H6xW


39. In a face-centred cubic arrangement of

metal, the co-ordination number of metal is

A. 12

B. 4

C. 6

D. 8

Answer:

Watch Video Solution

https://dl.doubtnut.com/l/_gke9nQ7sl5c3
https://dl.doubtnut.com/l/_pZVpVgrMXKJO


40. The co-ordination number of hexagonal

closest packed structure is

A. 6

B. 8

C. 10

D. 12

Answer:

Watch Video Solution

https://dl.doubtnut.com/l/_pZVpVgrMXKJO


41. The atomic radius for a face-centred cubic

cell of lattice parameter 'a'.radius is

A. a

B. a

C. 

D. 

Answer:

Watch Video Solution

√2

4

√3

4

a

2

√8

a

https://dl.doubtnut.com/l/_cVZOs8vLXdYL
https://dl.doubtnut.com/l/_ruIuqvu6Yaah


42. The number of atoms per unit cell is 2, the

arrangement is

A. octahedral

B. fcc

C. bcc

D. none

Answer:

Watch Video Solution

https://dl.doubtnut.com/l/_ruIuqvu6Yaah


43. The name given to the ABABABAB… type of

arrangement is

A. cubic close-packed arrangement

B. hexagonal close-pecked arrangement

C. tetrahedral arrangement

D. octahedral arrangment

Answer:

Watch Video Solution

https://dl.doubtnut.com/l/_HVT8auznMiyw
https://dl.doubtnut.com/l/_TuQnPavwmp4J


44. The atomic radius for a face-centred cubic

cell of lattice parameter 'a'.radius is

A. 

B. 

C. 

D. 

Answer:

Watch Video Solution

√8r

r
√3

4

1

2√2r

4r

√3

https://dl.doubtnut.com/l/_TuQnPavwmp4J


45. Explain packing in simple cubic unit cell

crystal.

A. 0.6

B. 0.52

C. 0.74

D. 0.92

Answer:

Watch Video Solution

https://dl.doubtnut.com/l/_D31dPQtDJYlF
https://dl.doubtnut.com/l/_RX7SImt3K4wN


46. Density of a crystal is given by

A. 

B. 

C. 

D. 

Answer:

Watch Video Solution

a3 × M

z × NA

NA × M

z × a3

z × M

a3 × NA

a3 × NA

z × M

https://dl.doubtnut.com/l/_RX7SImt3K4wN


47. The crystals exhibit following number of

arrangements for their atoms.

A. 4 arrangments

B. 7 arrangements

C. 10 arrangements

D. 14 arrangements

Answer:

Watch Video Solution

https://dl.doubtnut.com/l/_vB5wWy7QYt2n
https://dl.doubtnut.com/l/_UzLfarG3xr2E


48. The total number of Bravias lattice for a

cubic system is

A. 4

B. 3

C. 2

D. 1

Answer:

Watch Video Solution

https://dl.doubtnut.com/l/_UzLfarG3xr2E


49. The correct relation between angles of the

edge of a crystal belonging to a cubic system

is

A. a=b=c

B. 

C. 

D. 

Answer:

Watch Video Solution

a ≠ b = c

a = b ≠ c

a ≠ b ≠ c

https://dl.doubtnut.com/l/_b9JztCuAa1S3


50. The packing fraction in a face-centred cubic

cell of crystals is

A. 

B. 

C. 

D. 

Answer:

Watch Video Solution

π
√3

8

π
π

6

π
√2

6

π
1

2√2

https://dl.doubtnut.com/l/_tddAR2bEE8PP
https://dl.doubtnut.com/l/_ABbqjST34CZ9


51. The correct relation between angles of the

edge of a crystal belonging to a cubic system

is

A. 

B. 

C. 

D. 

Answer:

Watch Video Solution

a = β = γ = 90∘

a = β = γ ≠ 90∘

a = β = 90∘ , γ ≠ 90∘

a ≠ β ≠ γ ≠ 90∘

https://dl.doubtnut.com/l/_ABbqjST34CZ9
https://dl.doubtnut.com/l/_6aw93PQhT4re


52. The number of atoms per unit cell in a

simple cubic, face-centred cubic and body-

centred cubic are, respectively.

A. 1,4,2

B. 1,2,4,

C. 8,14,9

D. 8,4,2

Answer:

Watch Video Solution

https://dl.doubtnut.com/l/_6aw93PQhT4re


53. The name given to the ABABABAB… type of

arrangement is

A. cubic close-packed arrangement

B. hexagonal close-packed arrangement

C. tetrahedral arrangement

D. octahedral arrangment

Answer:

Watch Video Solution

https://dl.doubtnut.com/l/_OPKTNoJz5lY0
https://dl.doubtnut.com/l/_AOFsC0oj3Fq0


54. Which one is not the property of

crystalline solid?

A. isotropic

B. sharp melting point

C. high intermolecular force

D. a definite and regular geometry

Answer:

Watch Video Solution

https://dl.doubtnut.com/l/_AOFsC0oj3Fq0


55. The number of octahedral and tetrahedral

holes respectivley present in a hexagonal close

packed crystal of 'X' atoms are

A. 

B. 

C. 

D. 

Answer:

Watch Video Solution

× , 2 ×

× , ×

2 × , ×

2 × , 2 ×

https://dl.doubtnut.com/l/_tiWdFhY1fHcN


56. Which is used as dopant for p-type

semiconductros?

A. Si

B. P

C. B

D. As

Answer:

Watch Video Solution

https://dl.doubtnut.com/l/_W0FcQqZYZuon
https://dl.doubtnut.com/l/_aAwoHwLnl1uE


57. We can study crystals by

A. X-ray diffraction

B. Optical activity

C. Both

D. None

Answer:

Watch Video Solution

58. Diamond is a

https://dl.doubtnut.com/l/_aAwoHwLnl1uE
https://dl.doubtnut.com/l/_0sTGkHmkZnoH


A. metallic crystal

B. covalent crystal

C. ionic crystal

D. molecular crystal

Answer:

Watch Video Solution

59. The number of atoms in a face centred

cubic unit cell is

https://dl.doubtnut.com/l/_0sTGkHmkZnoH
https://dl.doubtnut.com/l/_zerGo8pJFV3Z


A. 4

B. 16

C. 8

D. 12

Answer:

Watch Video Solution

60. Explain the term Schottky defect.

Watch Video Solution

https://dl.doubtnut.com/l/_zerGo8pJFV3Z
https://dl.doubtnut.com/l/_jTFEf24KAmDz


61. Attempt the following: Give characterstics

of solid state.

Watch Video Solution

62. Attempt the following: What is

polymorphism?

Watch Video Solution

https://dl.doubtnut.com/l/_jTFEf24KAmDz
https://dl.doubtnut.com/l/_fM0TBUjGLQ3q
https://dl.doubtnut.com/l/_aWrLfkQ9FZxo


63. Calculate the numbe rof atoms present in 2

grams of crystal which his face centred cubic

lattice having edge length of 100 pm and

density 10g 

Watch Video Solution

cm3

64. X-ray diffraction studies show that copper

crystallizes in an fcc unit cell edge of

 cm. In a separate experiment,

copper is determined to have a density

3.608 × 10− 8

https://dl.doubtnut.com/l/_PZVOdntQf1yR
https://dl.doubtnut.com/l/_BXQpOFKtDvAL


. Calculate the atomic mass of

copper.

Watch Video Solution

8.92gcm− 3

65. Gold occurs as face centred cube and has a

density of 19.30 kg dm. Calculate atomic redius

of gold.

Watch Video Solution

https://dl.doubtnut.com/l/_BXQpOFKtDvAL
https://dl.doubtnut.com/l/_STgIYdmJqXVQ


66. Sodium metal crystalizes in bcc structure

with the edge length of unit cell 

cm. Calculate the radius of sodium atom.

Watch Video Solution

4.29 × 10− 8

67. Niobium is found to crystalline with bcc

structure and found to have denstiy of

. Determine the atomic redius if

niobium of its atmic mass is 93 u.

Watch Video Solution

8.55gcm− 3

https://dl.doubtnut.com/l/_Jh1mn0hagbLW
https://dl.doubtnut.com/l/_fuPJiXaLcNIv


68. The density of iridium is . The

unit cell of iridium is fcc. Calculate its radium

given molar mass is 192.2 g/mol.

Watch Video Solution

22.4 m3g

c

69. Calculate the number of unit cells in 1.00

 of Al given edge length of 353.6 pm and

fcc structure.

Watch Video Solution

cm3

https://dl.doubtnut.com/l/_fuPJiXaLcNIv
https://dl.doubtnut.com/l/_rVZco3qlyJWi
https://dl.doubtnut.com/l/_8NmKORbPzlGb


70. A compound forms hcp structure. What is

the number of octahedral voids, tetrahedral

voids and total voids formed in 0.4 mol of it.

Watch Video Solution

71. An atom crystallises in fcc crystal lattice

and has a density of 10 g  with unit cell

edge length of 100 pm. Calculate number of

atoms present in 1 g of crystal.

Watch Video Solution

cm− 3

https://dl.doubtnut.com/l/_vPn7dIatRgfI
https://dl.doubtnut.com/l/_ZhP4fVOh3zjw


72. An atom crystallises in fcc crystal lattice

and has a density of 10 g  with unit cell

edge length of 100 pm. Calculate number of

atoms present in 1 g of crystal.

Watch Video Solution

cm− 3

https://dl.doubtnut.com/l/_ZhP4fVOh3zjw
https://dl.doubtnut.com/l/_FeN7MBu6ESmv

